Semester One Review December 12, 2023

Today's Plan:

Learning Target (standard). | will review for the semester exam.

Students will: Complete practice problems over previous concepts at the
boards and study for my exam.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuarcy and provide students feedback, describe
and provide examples of exam problems.

Assessment. Board work

Differentiation: Students will work at the board, actively engage in practice
review concepts with the aid of other students and the teacher.
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ANSWER KEY #75
BELL RINGER

|) Determine whether the relation is a function. Explain.
(5H), (32),(-2.2), 4,5)
Yes it is a Function. Every input has one output:

2.) Rewrite 940% as a decimal and fraction in lowest terms.
04, 9/10

3) Evaluate the expression 22 whena =4 andb = -9 -5/2 or -2 1/2

2

ANSWER KEY

BELL RINGER
1) Find the y-intercept of the equation x + 3y =4 (0, 4/3)

2) Solve the equation 2(x - [) = -3x + 4
X =o/5or!l/5

3) Graph the line y = 2 m E 3




Semester One Review

andard form of the equa

December 12, 2023

of the line described. Mm=-
27) thro gh(l -2), parallel to %M %S)ﬂnoghu_é] _perp. to y =

|paralll’ m=m, |

werpnd: cu\ar

(12), m,=-2
\=mx+b
-2=-20)*p
-2=-2+b
b=0
\=2x

[2xry=0}

Stondlad form

\ m‘“ ™,

M = )(-3."5>
\=Mx+o
5=1(-3)rb

-5=‘—2q1+b
b=3

(8
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Solve each system by substitution. P n&k &'.’*.- C_ )
| N
29)%5 E 30) 3x+3y=0 2)5
—Sx+8y=-15 q"+~3

l/\d‘lﬂl&.ﬂ{' ’ "‘{y::%x_l.l
'5(‘N+3 +By=-15 (3,0) F-2x+|
20-IS+8y=-1%5  X=40N3 3x43(-2H)=9

TI-1Rs1S 3y-lx43=19
Solve each system_biglipfitg. \{=O ‘1:"‘4-\ _3X+3 --32 l'
B e e g oer B
@x+2y=6 N ‘_: x-l-{ gx—y:—S _sz—z
N ek 4
IS -
; N ‘1'(0""0 :/
T/ 2|='lx+(0 & [
1:-2)(-&5 v,
¥ ]
a n="; N=-Ox+| M=

indsperdint Iy. ) \=3x-1 Ty (o)

(i)
;nd:pmgbnﬂrx"b m=|
(TH) V=3 Ty (0)

BT et e
22 ’

Y- Yy =- 90x +3ly =99
2S5 DA g ey 25

Tl ==%0 =2 13y =- 13
indegendlnt
(2 ,-1
0x-9= ||
I0x =20
X=72
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Solve each system by elimination.

poaan P VL B Gt (N
) =2
|L|)(""|\l —'22 x._,__s ‘10)(+8|\|:‘ﬂ

- [HX 420y = -S3 - 40X +10y= -250
by =-80 I8y =18
\{ =-3 6 \’ = -|
i(\&,{p(n&,!v\" “4x-=-25
(35) “H=-18
X=2

induptndint-
(2:1)
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